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g | 2 | 7 | B] 22C| v® | wE | 5=
Ex | & | A | To mEZ| PZ | F| %
e % 5 | e z
Bx 5 | maat
5%
dtiEE 0.89 193 96 101 90
TR 0.64 14 18 17 18
=EFE 0.67 67 24 27 21
= iR 0.93 12 53 53 52
FhHEE 0.70 52 16 16 16
Iz R 0.70 56 23 25 21
=EER 0.71 97 25 28 21
RN E 0.68 151 44 46 41
N 0.83 715 38 40 35
HEE 0.81 84 25 24 26
BHEER 0.69 364 78 85 70
FEER 0.75 288 94 104 84
B AR 1.20 | 438 17 12 90 525 515 535
IR 0.86 325 181 186 176
e 0.72 115 40 36 44
EILE 0.84 42 18 17 19
BIIE 1.05 36 4 1 21 40 40 39
BHE 0.80 32 11 9 13
ITE-2Y=3 0.79 34 14 9 19
REHE 0.75 100 36 37 35
sz B2 IR 0.87 69 26 21 30
A3 ) I8 0.69 195 45 45 44
TR 0.87 268 149 162 135
=58 0.86 66 35 30 40
HEER 0.91 44 31 33 28
R ER KT 1.23 68 12 1 8 83 80 85
N5 1.08 | 202 9 0 154 214 211 217
EEER 0.93 173 125 137 113
=RE 0.93 40 29 25 32
IR 1.08 21 2 0 13 24 24 23
EHRE 1.01 16 1 0 13 17 19 15
ERE 0.99 15 16 19 12
] L IR 1.09 56 ) 0 27 64 61 66
=T 0.96 81 53 59 47
Ae 0.83 56 18 21 14
EEE 1.11 19 2 0 9 22 24 19
EFIIIE 0.93 29 22 31 13
TIRE 0.88 48 18 15 21
=Syl 1.00 15 0 0 15 12 16 8
f& ] IR 1.21 126 17 0 32 150 143 157
EER 1.02 17 0 0 17 17 15 19
RIFE 1.08 35 4 1 21 39 44 34
RERIR 1.06 35 0 0 30 32 36 28
RHE 0.99 28 26 26 25
== 0.78 50 13 16 9
ERER 0.99 37 36 42 30
PREE 0.93 43 28 24 31
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‘e | v | o | By bow | B2 | B2 | B2
%o y 5 RS | on- | BF | HE | A&
B 5 5 B, | s2x | 5 | 8 | #E
B 5 £ L E p %Eﬁﬁ ¥ ¥ =1
EﬂiE 4 5}5 7% % Bt &= % %
o 5 | BE =L
jtiEE 0.85 24 19 17 20
EHE 0.73 7 6 7 4
EFE 0.77 6 3 4 1
= R 0.88 9 12 11 13
2 0.87 3 5 4 5
Wiz 18 0.86 4 3 4 1
BEER 0.77 10 6 5 7
I IR 0.71 18 11 12 10
WARIR 0.80 10 11 10 11
BER 0.94 7 5 6 4
BEER 0.74 45 20 21 19
FEE 0.76 37 26 31 20
BRI ER 1.22 | 106 17 4 0 132 123 141
BN 0.92 34 25 26 24
i8R 0.82 11 5 6 4
=1 105| 5 0 0 2 3 5 1
AIIE 106| 5 0 0 2 4 3 4
BHE 112 5 0 0 1 3 3 3
lLFE 105| 5 0 0 1 2 3 1
REHE 0.96 6 7 9 5
5 B2 12 0.85 9 9 6 12
5 12 0.70 26 11 14 8
B 412 0.79 46 27 23 30
=E8 0.78 10 5 5 5
BER 1.11 6 1 0 2 7 7 7
RER AT 1.16 7 1 0 1 9 9 8
KB T 0.95 29 44 42 46
EEER 0.89 24 26 20 32
=RE 0.84 6 6 5 6
IR 0.82 5 5 5 4
EH S 1.31 5 0 0 -1 5 2 7
EiRE 1.00 2 3 3 2
R L 12 110 9 1 0 3 11 14 7
LER 0.87 13 6 6 6
=] 0.88 6 3 2 4
mER 0.90 3 1 2 0
FIE 103| 5 0 0 2 5 7 3
BIER 0.94 4 4 3 5
=yt 0.90 3 1 0 2
2R 106 | 25 3 1 11 29 28 29
EBER 0.94 3 2 3 0
RIFE 0.96 4 8 7 9
REARIR 0.86 10 9 8 9
KB 0.89 5 6 4 7
=% 2 0.67 9 4 4 3
EREER 0.74 10 6 4 8
FhARIR 1.17 9 1 0 2 11 5 16
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pF | 2| 3 | RZ | 22% | ux | mE | BE
BT | 7 | 2 | B] |2=s | FE | mE | HE
EL | & | L | %o |MEs | ®Em | % | %
iz B | 75 | maw B B B
o 5 | BE =L
It 0.89 10 7| 1 3
EHE 0.75 3 3 3 2
EFR 0.66 4 2 2 1
EHE 0.80 6 4 1 6
HEE 0.67 3 2 0 4
LI 0.85 2 1 1 0
BER 0.52 8 3 3 2
KR 0.74 8 5 5 5
AR 0.87 4 4 5 2
BER 0.73 6 2 2 1
BER 0.78 20 of 12 5
FEE 0.79 16 8| 10 5
ESt T 149 65 | 11 5 ~25 87| 86| 88
WEIR | 097 13 6] 15| 16
FRe 0.83 5 4 6 2
SN 100] 5 0 0 1 1 1 1
AR 127] 5 0 0 -1 2 2 1
BHE 101 5 0 0 1 3 3 2
L 0.86 2 3 5 1
EFHE 0.74 6 3 3 2
I & 18 0.71 7 3 5 1
e 0.78 10 6 6 6
BHIE 0.94 14 21| 22 20
=25 0.83 4 4 6 2
HER 0.78 4 3 4 2
SERAT 120] 9 1 0 -1 12 10 14
KIRFF 0.98 13 23] 20| 25
EEE 0.91 10 13 13 12
ZEE 105] 5 0 0 1 3 3 3
MILE | 096 1 4 5 3
BHE 0.94 1 1 1 0
BRI 0.96 1 2 2 1
Ll IR 1.00 2 0] 12 7
LBE 0.97 5 2 i 3
O 0.81 4 2 1 3
EEE 120] 5 0 0 0 1 1 0
I 0.95 2 0 0 0
g 0.75 4 1 1 1
BHE 0.96 1 i 0 2
Eme 110 12 i i 4 14 18] i
EER 1.00 1 1 2 0
RisE 109] 5 0 0 1 2 3 0
AR 112] 5 0 0 1 2 3 1
K58 0.81 3 2 3 1
B 0.77 3 2 i 2
EREE | 082 4 1 2 0
PHEIR 0.85 4 2 2 2
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EﬂiE 4 5}5 7% % Bt &= % %
o 5 | BE =L
g 1.00 11 12 13 11
EHE 0.81 5 4 4 4
EFE 0.72 6 2 2 2
=gt 0.89 8 2 1 3
AR 0.97 1 3 2 3
A 0.96 2 6 4 7
EEE 0.83 7 5 6 4
5,30} 0.62 19 7 9 4
N 0.65 12 7 4 9
HER 0.85 7 5 3 7
BEER 0.73 37 18 17 19
FEE 0.75 34 19 18 19
B SR 1.22 | 80 11 6 -4 102 95/ 108
] 0.91 28 26 27 25
HBIR 0.68 13 4 4 3
=LE 0.88 4 3 3 2
RINE 102 8 1 1 2 9 9 9
BHE 0.90 2 3 4 2
e 0.83 3 4 5 2
REHE 0.81 9 7 7 6
I B 18 0.66 11 4 4 3
B2 0.71 20 8 8 8
B2 0.80 34 24 28 19
=58 0.91 6 4 4 3
HEe 0.75 7 4 4 4
ER AT 1.02 | 11 1 1 4 13 12 13
KBR AT 0.90 28 34 38 29
EEE 0.87 18 14 19 9
=RE 0.97 2 10 10 9
IR 0.80 4 4 5 2
EHRE 110 5 0 0 1 3 3 3
BRI 117 5 0 0 0 2 2 1
& LU I8 117 10 1 0 0 12 13 11
LEE 0.97 7 5 5 5
=] 107 5 0 0 1 1 2 0
mEE 119 5 0 0 —1 3 1 4
g 107 5 0 0 1 2 3 0
IR 0.77 6 6 3 9
=52 119 5 0 0 -1 5 3 6
B R 133 20 3 1 -8 27 28 25
= 135 5 1 0 -3 8 7 8
RI&E 118 5 0 0 ~1 2 1 2
REAE 140 | 5 1 0 -5 8 11 4
KRB 116 | 5 0 0 0 4 3 5
= I IR 122 5 0 0 -1 3 3 2
EREER 120 5 0 0 ~1 2 2 1
B IR 158 5 1 0 -5 7 6 7
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EﬂiE 4 5}5 7% % Bt &= % %
o 5 | BE =L
biEE 0.88 42 21 21 20
EHE 0.72 14 5 5 4
=EFE 0.60 15 6 5 7
] 0.80 20 7 5 8
FHEE 0.76 9 4 4 3
MEAC] 0.89 7 7 6 7
] 0.71 20 5 3 7
31 0.76 26 10 10 9
N 0.84 16 6 5 6
HEE 0.89 14 5 9 1
BHEER 0.69 76 7 10 3
FEE 0.83 52 22 22 21
R 1.02 65 113 110 116
IR 0.91 62 29 25 32
FaE 0.73 23 6 5 6
EILE 0.86 9 2 1 2
AINE 1.03 5 9 10 8
B 0.95 5 2 2 1
ITE-2Y=3 0.96 ) 3 5 0
EHE 0.83 17 7 4 10
GRS 0.76 18 6 6 3
A I8 0.80 32 7 7 6
TR 0.83 59 30 25 34
=58 0.93 11 4 4 4
HEE 0.92 9 4 5 3
SUERRT 112 15 2 1 8 17 17 17
N5 1.06 39 39 41 36
EEE 1.00 31 23 17 29
=RE 1.03 7 6 6 5
IR 1.04 5 1 1 3 6 3 9
EHRE 1.01 o) 0 0 3 3 5 1
ERE 0.87 5 3 1 5
] L IR 0.97 11 10 10 9
LER 0.98 17 8 7 8
AR 0.86 11 4 3 5
] 0.97 4 3 2 3
EFIIIE 1.13 o) 1 1 3 6 4 8
TIRE 0.97 8 4 2 6
B4 119 5 0 0 1 4 2 5
1E 12 131 35 8 2 1 43 45 41
EER 1.15 5 0 0 2 4 4 3
RigE 111 6 0 0 4 7 7 6
RERIR 1.08 8 0 0 7 8 8 8
KB 0.95 7 4 5 2
= IF R 1.02 o) 0 0 5 5 5 5
ERER 0.93 10 8 4 12
HhiBIE 1.01 7 4 2 6
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EL | & | L | %o |BEp | ®um | % | =
EﬂiE 4 5}5 7% % Bt &= % X
Mx 5 | me = E
|3 0.81 23 10 11 9
FHE 0.54 9 0 0 0
=EFE 0.71 7 2 1 2
= IR 0.85 9 8 6 9
AR 0.71 5 2 2 2
A 0.73 5 2 1 2
BEE 0.70 10 4 4 3
31 0.78 13 4 4 3
AR 0.75 10 6 6 6
HER 0.80 9 2 1 2
BHER 0.81 31 13 13 13
FER 0.90 19 15 14 16
B AR 1.35 59 13 5 -9 76 75 76
HE)NE 0.97 24 20 20 19
FaE 0.68 13 2 3 1
EILE 0.95 3 3 4 2
RIE 0.99 3 6 5 6
BHE 0.93 2 2 2 2
ITE-2Y=3 0.98 2 3 5 0
RHER 0.75 10 1 2 0
s B2 12 0.97 5 3 5 1
A I8 0.74 19 4 4 4
B2 1.03 17 18 18 18
=58 0.87 7 7 6 7
HER 1.11 5 0 0 2 3 3 2
ER AT 1.09| 15 2 1 4 18 17 19
N5 1.20 24 3 1 6 29 28 30
EER 113 13 1 0 8 14 18 10
=RE 109 5 0 0 2 1 1 1
M LR 1.03 5 0 0 1 3 1 4
BHE 0.81 3 1 1 1
BRI 0.89 2 1 0 1
] L & 0.96 6 7 8 6
LER 0.93 9 5 4 6
AR 0.80 6 2 1 3
mEE 0.99 2 1 2 0
EFIIIE 0.99 3 2 2 2
gl g 1.01 5 0 0 3 3 1 5
S8 0.93 2 2 0 3
B R 1.04 12 11 11 10
EER 0.90 3 4 4 4
RI&E 0.93 4 1 2 0
RERIR 0.97 5 5 4 6
KR 0.74 6 4 3 4
=% IR 0.77 6 2 2 2
ERER 0.86 6 4 4 4
iR 0.90 5 4 5 2
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EﬂiE 4 5}5 7% % Bt &= % X
Mx 5 | me = E
|3 0.93 10 9 10 8
TR 0.71 4 5 3 6
=EFE 0.64 ) 2 1 2
= IR 0.93 4 8 6 10
AR 0.80 2 1 0 1
A 0.93 2 3 2 4
EEE 0.84 4 2 2 1
31 0.64 11 4 3 5
AR 0.84 5 2 3 1
BES 0.70 7 3 2 3
BHEER 0.73 24 9 6 11
FEE 0.78 19 7 10 4
B AR 1.30 47 10 4 -5 60 57 63
HE)NE 0.96 16 17 19 15
FaE 0.76 7 5 5 5
EILE 1.00 1 2 2 1
RINE 112 5 1 1 1 5 6 3
fBHE 1.32 o 0 0 -1 1 0 2
ITE-2Y=3 1.07 5 0 0 1 2 4 0
REHE 0.75 6 2 2 1
sz B2 IR 0.94 4 4 5 3
E5 T IR 0.82 10 7 7 6
B 58 0.93 17 14 14 14
== 0.82 ) 2 0 3
HEe 0.97 2 4 3 4
ER AT 136 8 2 1 -2 11 12 10
N5 1.13 18 2 1 6 21 20 21
EER 0.96 10 11 14 7
=RE 1.09 o 1 0 1 6 5 7
M LR 0.98 1 2 3 0
EHRE 0.98 1 3 3 3
ERE 0.89 1 0 0 0
] L & 1.11 5 0 0 1 ) 7 2
LEE 103 5 0 0 4 5 6 4
AR 094 2 1 0 1
mEE 1.10 5 0 0 1 3 2 3
g 1.11 5 0 0 1 2 1 3
TIRE 1.18 5 2 1 0 6 7 4
S8 1.01 o) 0 0 1 1 0 1
B R 0.96 10 11 11 10
EER 0.95 2 3 3 2
RIFE 0.93 3 2 3 1
REARE 0.75 6 5 4 5
RO E 0.64 5 2 2 1
=% IR 0.74 4 2 3 0
EREE 0.77 5 2 2 1
HRER 0.81 ) 4 2 3
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EL | & | L | %o |MEs | ®Em | % | %
EﬂiE > 5}5 7% % Bt = X X
Mx 5 | me = E
timE 0.95 13 11 10 11
EHRE 109| 5 0 0 2 2 1 2
PIERE] 0.95 3 4 3 5
] 0.84 7 4 5 3
FAEE 106| 5 0 0 1 3 1 5
M 0.90 3 1 1 1
BEER 0.78 6 2 4 0
] 0.71 10 3 2 4
HAE 0.67 7 5 5 4
HER 0.85 6 4 4 3
BEE 0.74 23 6 7 4
FEE 0.79 19 12 13 11
=R 0.88 38 51 50 51
eI 0.89 22 15 15 15
88 0.62 10 1 0 2
=ILE 0.72 4 2 3 1
BIE 0.98 2 5 5 4
B E 103| 5 0 0 1 2 3 0
TMENC] 101 1 3 3 2
EHE 0.69 8 5 5 4
I 5 12 0.69 8 3 4 2
#4152 0.83 11 5 8 2
BHE 0.74 26 11 11 10
=s8 0.83 5 4 3 4
HE R 1.03 2 5 3 6
SRR 119 10 2 0 2 12 5 19
KR T 114 | 18 2 1 10 20 19 20
EES 0.92 13 11 10 11
=EE 114| 5 0 0 1 3 3 2
FILE 0.92 2 3 3 2
] 102]| 5 0 0 1 3 4 2
ERE 102] 5 0 0 1 1 0 2
] 0.88 5 8 5 11
] 0.77 9 6 0 11
LOE 109| 5 0 0 2 2 1 2
mER 116| 5 0 0 1 2 1 2
I 132] 5 0 0 0 1 1 0
BIER 124| 5 1 0 1 5 6 4
S48 115| 5 0 0 1 3 4 2
12 182 0.99 11 12 9 15
R 107| 5 0 0 1 1 0 2
El5E 0.97 3 4 4 3
AR 117] 5 0 0 2 3 4 2
Y] 107| 5 0 0 1 2 1 2
] 0.92 3 2 3 1
EREE 108| 5 0 0 2 2 1 3
B IR 0.80 5 1 2 0
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Mx 5 | me = E
dbiEE 1.02 13 12 11 12
EHE 0.52 7 2 3 0
=2F5 0.82 4 3 1 4
=R 0.64 11 7 4 9
MHER 0.82 3 3 2 3
iy 0.69 3) 1 2 0
m5E 0.68 8 3] 2 7
I 5 0.78 11 3 4 1
AR 0.65 8 2 2 2
HER 0.66 9 2 1 2
IBFER 0.64 32 8 8 7
FEER 0.73 25 6 ) 7
RIRED 1.12 43 6 1 19 49 95 43
AE)NE 0.82 31 11 11 11
HrimE 0.73 9 2 4 0
EWE 0.82 4 1 0 1
BIIE 0.94 3 3 4 2
i 0.91 2 2 2 1
I 0.88 3 1 2 0
KEER 0.73 9 3 3 2
Iz BB 12 0.77 7 ) 4 3)
7R 2 0.76 15 3 3 3
ZHE 0.82 24 15 18 12
=ER 0.77 6 4 2 3)
BEER 0.85 4 1 2 0
RERRT 0.96 Ji 12 13 10
KBRFF 1.03 19 17 19 15
EER 0.86 18 6 8 4
=RE&E 0.94 4 3 1 4
IR 1.02 5 0 0 2 2 2 1
SHE 0.65 3 1 1 0
ERE 0.68 3 1 1 1
el LI & 1.09 8 1 0 3 9 4 14
N1 0.97 ] 3 3 3
Ifjmy=] 0.99 3 0 0 0
YT 1.03 5 0 0 2 2 2 2
FINE 1.08 5 0 0 2 2 2 2
gagi 0.97 4 2 1 2
=g 1.18 o 0 0 1 3 3 3
fa fif] IR 1.04 10 16 15 16
EER 1.07 ) 0 0 1 2 2 1
RIGIR 0.81 3) 3 5] 1
REARIR 0.74 7 5} ) 3)
KR 0.89 4 1 0 1
= IR 0.79 4 2 3 0
ERER 0.91 3) 2 4 0
PHER 0.87 4 2 3 0
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o 5 | BE =L
dtiEE 0.66 16 11 9 13
EHE 0.43 5 2 2 1
=FE 0.58 4 1 1 1
=pd L 0.96 4 2 1 3
FEE 0.45 4 1 0 2
i 0.83 2 1 1 0
=EE 0.66 6 3 2 4
31 0.53 10 5 6 3
AR 0.70 6 4 5 3
HEER 0.93 3 6 6 6
BHEER 0.50 27 6 8 4
FEER 0.62 20 6 7 4
B AR 1.31 38 7 2 -2 48 46 o0
HE)NE 0.85 19 13 10 15
i8R 0.68 7 2 1 3
EILE 0.95 2 0 0 0
AINE 1.46 o) 0 0 -1 ) 3 6
BHE 1.43 5 0 0 ~1 1 0 2
ITE-2Y=3 0.87 1 3 4 1
EHFE 0.67 6 4 4 3
GRS 0.60 6 3 2 4
A I8 0.60 13 3 3 3
BENR 0.86 15 10 5 14
== 0.95 3 6 5 6
HER 117 5 0 0 1 3 3 3
RARRT 1.66 8 3 1 -6 12 14 9
N5 1.22 16 2 0 3 19 16 22
EER 0.94 9 7 9 5
=RE 1.36 o 0 0 -1 4 3 5
M LR 0.93 1 5 3 6
BHE 117 o) 0 0 0 2 2 1
EiRE 1.12 5 0 0 0 2 1 3
] L & 1.38 6 1 0 -1 8 6 9
LER 0.93 5 7 10 3
AR 1.09 5 0 0 1 0 0 0
EEE 134| 5 0 0 0 4 4 4
ENE 1.18 5 0 0 0 1 0 2
gl g 1.46 5 0 0 -2 ) 5 9)
S8 1.06 o) 0 0 1 1 1 1
12 1.26 9 2 1 1 12 8 15
EER 1.14 5 0 0 0 2 1 2
RIFE 1.14 o) 0 0 1 ) ) 5
REARIE 1.18 5 0 0 0 3 3 3
KRR 115 5 0 0 1 2 1 2
=yl 110 5 0 0 1 1 0 1
BERER 0.96 2 4 6 1
HRER 1.11 o} 0 0 1 2 2 2
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B < 5 RS | oni | BE | BE | BE
BL 5 5 B, | == | 5 | HE | &E
E 2 % L £ p %%% 19 5% =] i
EﬂiE 4 5}5 7% % Bt &= % X
Mx 5 | me = E
itisE 121 21 2 1 2 26 29 22
TR 0.68 6 3 2 3
=EFE 0.57 7 2 0 4
= IR 0.88 7 6 6 5
FHEE 0.60 5 3 3 3
A 0.62 5 3 3 2
mEE 0.67 8 7 3 10
31 0.66 12 9 8 10
AR 0.92 ) 5 3 7
HEE 0.93 ) 6 5 6
BHEER 0.70 29 14 16 11
FEE 0.74 24 11 14 7
B AR 1.21 85 10 5 9 104 103 105
HE)NE 0.96 21 29 29 28
HBE 0.54 13 6 4 7
EILE 1.00 5 0 0 2 ) 3 7
RINE 0.98 3 6 7 4
fBHE 0.81 3 3 3 2
ITE-2Y=3 0.84 2 4 2 5
RHE 0.88 6 3 1 4
GRS 0.56 10 6 6 5
A I8 0.70 16 5 6 4
B 58 0.82 24 28 26 30
=5g 0.49 10 7 7 6
HEe 0.91 4 6 7 5
ER AT 117 13 1 0 2 16 13 19
N5 1.06 32 2 1 14 36 38 34
EER 1.00 11 27 30 24
=RE 0.84 4 3 2 4
M LR 0.84 3 2 3 1
EHRE 0.95 1 3 2 3
ERE 1.27 5 0 0 0 3 3 2
] L & 1.27 16 2 1 0 20 18 21
LER 0.96 7 8 7 9
AR 0.84 4 3 2 4
mEE 0.90 2 6 6 6
EFIIIE 1.12 o 0 0 1 3 0 5
BIEE 0.77 5 5 3 6
S8 1.04 o) 0 0 1 2 0 3
B R 111 23 2 1 7 28 31 24
EER 1.05 5 0 0 1 6 6 5
RIFE 0.88 4 6 6 6
RERIR 1.02 5 0 0 3 5 6 4
KRR 1.00 5 0 0 2 2 3 1
= I IR 0.90 3 2 1 3
ERER 0.98 3 4 5 2
g ] 119 6 1 1 1 8 8 7
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pF | 2| 3 | RZ | 22% | ux | mE | BE
BT | 7 | 2 | B] |2=s | FE | mE | HE
EL | & | L | %o |MEs | ®Em | % | %
EﬂiE > 5}5 R 8 &t = X X
# = £
Vx £ | mz
itimE 0.80 7 7 9 4
EHRE 0.41 3 2 3 0
PIERE] 0.58 2 2 2 1
] 0.96 2 2 2 2
FEE 0.32 3 0 0 0
M 0.47 2 0 0 0
BEE 0.76 3 1 0 2
] 0.58 5 2 3 0
HARE 0.87 2 5 4 5
HER 0.45 4 0 0 0
EET] 0.74 10 8 10 5
FES 0.88 7 10 15 5
=R 184 | 36 6 3 15 49 48 50
I 1.02 8 15 17 12
88 0.46 5 2 2 1
=ILE 0.68 2 0 0 0
BIE 117] 5 0 0 1 5 5 4
BHE 051 2 0 0 0
TMEN] 0.63 1 0 0 0
EHE 105| 5 0 0 1 2 0 4
I 5 12 0.34 5 0 0 0
#4152 0.81 5 4 5 3
BHE 0.52 15 6 6 5
=5k 0.25 5 0 0 0
HE R 0.76 2 0 0 0
SRR 102| 6 1 1 2 8 7 8
KR T 110| 16 1 0 5 19 19 18
EEE 0.98 5 10 9 10
=EE 0.68 2 2 1 3
e ] 0.46 2 2 1 2
ERE 0.34 1 0 0 0
ERE 0.65 1 0 0 0
] 124| 5 0 0 0 5 5 4
] 061 5 1 1 1
O e 0.35 3 0 0 0
mER 117] 5 0 0 0 2 1 3
I 108| 5 0 0 1 1 1 0
BIER 0.83 2 1 1 0
S48 112] 5 0 0 0 1 0 1
12 182 117] 5 0 0 3 5 7 3
rEEe 0.72 1 2 1 2
El5E 114| 5 0 0 1 5 5 4
AR 0.48 4 0 0 0
Y] 0.72 2 1 1 0
HiEE 0.50 2 0 0 0
EREE 0.53 3 0 0 0
S 118] 5 0 0 1 2 2 1
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